Dynamic Support and Resistance

Three chart prices are used to calculate Support and Resistance lines. Typically the High, Low, and
Close prices of a daily range are used. However, this DYO example will use 3 different prices which are
related to the 1% session open. The 3 prices will be the session open price, and the high and low of the

1%t hour.

Formula

Pivot = (High Price + Low Price + Open Price) / 3
Range = High Price — Low Price

4R [4th Resistance] = 2R + Range

3R [3rd Resistance] = 1R + Range

2R [2nd Resistance] = Pivot + Range
1R [1st Resistance] = Pivot + (Pivot - Low)
H [1% Hour High]

P [Pivot Price]

L [1%Hour Low]

1S [1st Support] = Pivot - (High-Pivot)
2S [2nd Support] = Pivot - Range

3S [3rd Support] = 1S — Range

4S [4th Support] = 2S — Range

i — —1
Study MName Study Location Marker Location Label Location Grid Tab E.“*? “a ﬂ ? %
[Dynamic S&RLnes | [Chat v | [StudyValee  +| [Column2 v | | Defauit - Use as Default
Study Scale YYariables File Meszzage Location g:ii":tg:hind Bars
| Chart Scale - | Ensign v | Mone T Cloze Only
Meszage Text Font True Fale Panel Show Yalues
| HE N

uto Remove
Sound Trading System
@ Silent Beep A Copy to Clipboard Sound ance per bar Price Cluantity Cormmisziomn
WY file |Last N
| | Browse |
Categomny “Wariable Selection #1 & #3 Op. [#] Selection #2 & #4 Offzet Show karker Color
Chart Value - 58 High&D » = H2 Minute High after 1st Open * 60 - 0= -
= 2o o) - S - [0
A |Char Value E[Highﬁﬂ] := 60 Minute High after 1st Open
_B Chart Value | [Low60] = &0 Minute Low after 1st Cpen
T Expression | [Openl] := Session 1 Open
_D Function [Pivot] = Simple Average( [Openl], 3} L . Study Value | Pivot
T Expression | [51] :=( 2 * [Pivat] ) - [High&0] L . Study Value | 51
T Expression | [52] := [Fivot] - { [High80] - [Lows0] ) L . Study Value |52
T Expression | [R1] := (2~ [Pivot] ) - [Lowg0] - Study Value |R1
_H Expression | [RZ] = [Pivot] + { [High®&0] - [Low60] ) L . Study Value R2Z




A — Save the high of the 1 hour following the 1 session open in a variable named High60. The
duration of the period is the #2 selection which is 60 minutes in this example.

B — Save the low of the 1° hour following the 1% session open in a variable named Low60.
C — Save the open of the 1 session in a variable named Open1.

D — Calculate the Pivot by averaging [Open1], [High60], and [Low60]. The 3 variables used are
adjacent to each other with Open1 being first on the variable list. This is an important relationship
because the function averages adjacent variables with the variable which is 1% in the list being named
in the function parameter. The quantity of 3 comes from the Op. [#] field.

E — Calculate 1 Support.
F — Calculate 2" Support.
G — Calculate 1* Resistance.
H — Calculate 2" Resistance.

The line labels use Label Location Column 3 so they show in the right side margin.
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